CHAPTER 4

A. A survey was conduc .

/ Y Wi ducted in whic

The following pie chart sh which some people were asked about their favourite drinks.
ows the data. Look at the pie chart and answer the questions
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1. How many people were surveyed if the favourite drink of 900 people is Cold coffee?

a. 1000 bh. 3000 e 300 d. 300
2. How many more people like Milkshakes than Coconut water?

a. 750 b. 1500 e. 150 d. 600
3. Find the total number of people who like Aerated drink and Buttermilk.

a. 750 b. 450 c. 300 d. 600
4 Find the central angle in the pie chart for the people who like Buttermilk.

w720 b. 36° .1 18° dieads

B. A glass jar contains 6 red, § green, 4 blue, 7 orange, 9 purple and 5 yellow marbles ol
the same size. Akshat takes out a marble from the jar at random.

1. Which colour marble has the highest probability of being picked up?

a. Red b. Blue ¢. Purple d. Green
l,_ ‘3. What is the probability that the chosen marble is red?
e > "s" b -}— [ 2 d ..?:_
R &3 E e i
3. Which colour marble can be picked with a probability of %q 7
4. Red b. Blue ¢. Green d. Yellow
I 4. What is the probability of picking up a yellow marble?
e S et b P
p*‘-gz 5 39 39 19
| CHAPTER 5 ;
A. The sum of the first odd natural numbers is n*, Based on it, answer the question
| ‘._m.::mgf;+3+5+7+9willhe
" 36, b 25. e 24, d. 81,
umbers can be expressed as

% an itk of first n odd natural 0
36 as the sum of the b1k S+ THIF L

+5+7
jﬂoq-m, a1+3+5+7+9
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2. What is the present age of the granddaughter?
d. 90 yeq
i 15 years b 30 years ¢, 12 years Yo
3. Wihat will be the age of the grandmother after |5 years: o
. 15 years b 75 years c. 12 years R
4. Find the sum of their ages after 15 years. -
8, 75 years . 90 yenrs c. 120 years d. 105 years
| TR o - 4 )
B. The difference between the two numbers is 56, The ratio of the numbers is 9:2,
1. Which cquation represent the above situation’?
n 9+ 2 = 36 b, v —x =356 !9 =22 =20 d. 10x = 25=64
2. The larger number is
N 56, b, 16, ¢, B8, d. 72
3. The smaller number is
4 6, b 56. o 16. d. 88,
4. Find the sum of the two numbers if the ratio remains the same.
o 8 h. 88 c. 80 d. 72
CHAPTER 3
A. Look at the given trapezinm ABCD in which AB||CD and answer ““fu']“ﬁ““m.-
- - . . A —— ot
1. Find the value of x in the trapezium. | s
a. 75° b, 80° /
e 70° d. 56° |
- . ;. -ll x —26°%~
2. What is the sum of ZA and £ZD? B I 'lC
a. 90° b 180° e 270° d. 3607
3. Find the measure of ZABC.
6 56 b, 130 . 49 d. 131°%
4. Which of the following is trie about a trapezium.
a. It is not a guadrilateral. b, All the interior angles are equal.
¢ Sum of the interior angles is 360°. d. Opposite sides are parallel and equal
B. ABCD is a parallelogram in which ZD:2A :: 7:11. Now, answer the questions.
. ZB:AC
w 11:7 b 4:7 e T:11 a4 73
2. Find the measure of <A and £C,
a. 110° cach b, 110° and 70° respectively
e I1BO7 and 707 respectively d. 1807 each
3. Find the sum of measures o ZA and 2B,
s 110F b 1807 e 70° &, 360°
4, The measure of side AB =
s. BC. b, AC, e AD. 4. CD:
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144 is the sum of the first n odd numbers; where i 15

T b, 14, o 12 .- 17,

gqed s the sum of first # 0dd natural numbers g

A natural number which cannot be expre
not @ perfect square,
4. The statement is true, b, The statement is fulse.

¢, A natural number can niever be o perfect square, . None of these

B. The areas of two square fields are 289 and 121 sq. units respectively.
1. Perimeters of the two fields are
A 289 units and 44 units, b, 68 units and 48 units
c. 68 units and 44 units d, 68 units and 121 units
1. The length of the dingonals of two squares are
a. 1742 units and 22 units b, 34 units and 22 units.
¢ 34 units and 112 units. d. 1742 units and 1192 units,
3. The area of the field being formed by joining the two square fields is
a. 410 units. b, 112 sq. units, e 410 sq, units, d. 112 units.
CHAPTER 6
A. The cube root of & negative perfect cube is the negative of the cube ront of its absolute
value. Thus, to find the cube root of 4 negative perfect cube, we need to find the cube
root of its absolute value and multiply the result by —1.
1. The cube root of —35937 is
a. 1089, b, 33, g, =33 d. ¥33.
2. The cube oot of —6892] = 34318
wn —287. h. 217, c. 287, i 217.
1. The cube root of —15625 = (—1000) is
0 =25, b =35; €., 250, 4. —250.
- =2197 .
4. The cube root of —S=2 18
a _Ii’t‘ b E €. :—i o "l—lf.'
#. A school held Olvmpiads for students in three subjects — Maths, Science and English.

CASEBALED QUESTIONS
3o

L]
2o

The npumber of students who get medals in these three subjects is in the ratio 2:3:4,
The product of the such students is 192,

Find the number of students getting medals in Maths.

a 4 b 12 e} d 8

Find the number of students getting medals in English,

P | b, 6 e 3 d. &

If the value of each medal is T15000, find the wtal amount of all the medals,

s L105000 b, T255000 ¢ T270000 o, TIR0O00
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